16 SQUA'RE BASE CASTING /—11/16' RAD. [e 7/16' RAD.
10 3/4 356-T6 AL, ALLOY /

19" DIA. MAX, —4
9/16"-18NC-2 X 1 1/2' LONG BOLT CIRCLE I , p
STAINLESS STEEL BUTTON HEAD , L —1" THK
SOCKET SCREW laBnLDTIA'CID?eIgLE — LT aw
1/4-20NC-2 DRILL & TAP THRU / 5 DA
BACK WALL FOR GROUNDING SCREW , BT CRCLEN. \
SEE GROUNDING DETAIL
174" THK. ABS PLASTIC DOOR L
VITH ULTRA-VIOLET INHIBITORS 916" T, —
2 X 3 SELF-ADHESIVE LABEL (P
FIXED TO OUTSIDE SURFACE OF DOOR
1/4"-2NC-2 HEX NUT- 2 REQUIRED
ROUND HEAD MACHINE SCREV-
V4"-2NC-2 X 1 1/2* LING
#A5-1283
LOCKVASHER, 1/4° BOLT 2 10
| FLATVASHER, 1/4* BOLT
. ] 2 REQUIRED [ BASE
1174 1334 ELECTRICAL GROUNDING DETALL
o0 SQUARE (ALL HARDWARE STAINLESS STEEL - PASSIVATED)
48"
20 DA BLT CIRCLE
e /4" Ra. /—3/4' RAD. FOR 1 1/4° ANCHR BULT/@/ 16" DIA BOLT CIRCLE (oo [ B0 1§ —I—
22* TIA. MAX, — / FOR 1" ANCHIR BOLT = , iﬁ 6
BOLT CIRCLE %f __L3 W 1ye-me wr T
15 DIA. MIN, —{| .\ 4 REQUIRED
BILT CIRCLE uss \g 2 ® frmiEE i+
I = |—14 I/S'J /
(TYP) 1 1/4-TNC-2 X 3 3/4° LONG HEX COUPLING
| /\ y (TYP) HRS. - GALVANIZED (4 REQUIRED)
N\ 1 1/4"-TNC-2 X 4' LONG HEX HEAD BOLT, 11/4° DIA X 54" LONG ANCHIR ROD (4 REQUIRED).
6 9/16 STD. LOCKWASHER AND 1/2" THK. X 2 3/4 D, ANCHIR ROD T BE 55,000 PSI MIN. YIELD STRENGTH
76 —— | FLATWASHER - HRS. - GALV. (4 OF EACH REQUIRED) PER AASHTD M314-90, GRADE 55. TOP 18 OF ROD TO
/ 2 I\ BE GALVANIZED PER AASHTD M232 CLASS C, (ASTH A 153).
\ BOLT CIRCLE
7 /
PRK
EEA P&K POLE PRODUCTS, INC.
\ J L RPN we (W] — _ 84 Foundry St, Newark, N.J.
/<<\A\ - /}Z ___ * TB-M81/BERGEN *
BOTTOM [F BASE TO BE COATED _ EMERGEUL\IW CODE TB-le
WITH BITUMINOUS PAINT a
- WM. 06-07- 95[: 68095_;,‘
"BERGEN COUNTY DEPT. OF PUBLIC WIRKS™  NONE




